
PinDot ContourU Adjustable Footrests
LB07 and LB08 Interfacing Hardware



PinDot ContourU Adjustable Footrests
LB07 and LB08 Interfacing Hardware

Item
Number Part Number DescriptionNote

Quantity Per
Package Assembly

3001275-NLA NLA - Adjustable Footrest Assembly - Small - LB07
(Pair)

2 11 B
1090100-NLA NLA - Footrest Assembly, Adjustable, Small, Single

- Right
1 11 B

1090101-NLA NLA - Footrest Assembly, Adjustable, Small, Single
- Left

1 11 B
3001264-NLA NLA - Adjustable Footrest Assembly - Large - LB08

(Pair)
2 11 B

1090102-NLA NLA - Footrest Assembly, Adjustable, Large, Single
- Right

1 11 B
1090103-NLA NLA - Footrest Assembly, Adjustable, Large, Single

- Left
1 11 B

3000731 NLA - Plate, Foot - Small (4-25/32" W x 6-1/8" L) 1 12
3000732-NLA NLA - Plate, Foot - Large (6-1/8" W x 8" L) 1 12
3001272-NLA NLA - Strap, Ankle, LB07, Small 1 23
3001258-NLA NLA - Strap, Ankle, LB08, Large 1 23
3001261-NLA NLA - Pivot/Slide Tube Assembly with Plug Buttons,

Chrome
1 24

3000966 Heel Loop, Small (2" W x 5-3/4" L) - LB07 1 25
3000967 Heel Loop - Large - Right/Left (2" W x 6-7/8" L) -

LB08
1 25

47311X001-NLA NLA - Clamp (7/8") 1 26
1200034 Plug Button, Round, Black (7/8") 1 27
1200036 Plug Button, Round, Black (3/4") 1 28

1100091-NLA NLA - Screw, Socket Head (1/4-20 x 2-1/2") 1 29
1100208-NLA NLA - Screw, Socket Flat Head (1/4-20 x 1-3/4") 1 210
1100030-NLA NLA - Nut, Hex (1/4-20) 1 211
1100084-NLA NLA - Locknut, Nylon (1/4-20) 1 612
1100209-NLA NLA - Eyelet, Grommet and Washer 1 213

1100039 Washer (1/4 x 9/16 x 1/16") 1 4A
A - Not Shown  
B - Includes items 2-13  

NOTE:

 


